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retemaraP lobmyS mumixaM stinU

egatloVylppuStupnI V NI 51+ot5.0- V

sniPtupnI V JDA V, NE V, SNS 7+ot5.0- V

esaCotnoitcnuJecnadepmIlamrehT θ CJ
18 W/C°

tneibmAotnoitcnuJecnadepmIlamrehT θ AJ
652 W/C°

egnaRerutarepmeTtneibmAgnitarepO TA 07+ot0 C°

egnaRerutarepmeTnoitcnuJgnitarepO TJ 521+ot0 C°

egnaRerutarepmeTegarotS T GTS 051+ot56- C°

ceS01)gniredloS(erutarepmeTdaeL T DAEL 003 C°

retemaraP lobmyS snoitidnoCtseT niM pyT xaM stinU

NI

egatloVylppuS V NI 82.11 00.21 27.21 V

tnerruCtnecseiuQ IQ 0.1 5.1 Am

0.2

tuokcoLegatlovrednU

dlohserhTtratS OLVU 7 8 9 V

NE

tnerruCniPelbanE I NE V NE V0= 001 051 Aµ

egatloVdlohserhT V )NE(HT V NE gnisir 8.1 3.2 V

siseretsyH V TSYH 002 Vm

emiTyaleDelbanE )3()2( t )NO(D V NE morfderusaem,hgiHotwoL=
V NE V= )NE(HT V%01ot VRD

005 sn

emiTyaleDelbasiD )3()2( t )FFO(D V NE morfderusaem,woLothgiH=
V NE V= )NE(HT V%09ot VRD

051 sn

)straPegatloVtuptuOdexiF(SNS

tnerruCniPesneS I SNS gnikniS 57 001 521 Aµ

)straPegatloVtuptuOelbatsujdA(JDA

tnerruCniPtsujdA I JDA gnicruoS 52.0 Aµ

egatloVecnerefeR )2( V JDA V0.3 ≤ V RWP
)4( ≤ Am1,V6.3 ≤ I TUO ≤ A1 %5.1- 362.1 %5.1+ V

%5.2- %5.2+

�1�
�������;
�������
�#�

9�����
�����	�������
��
��5�6

Unless specified: TA = 25°C, VIN = 12V, VPWR = 3.3V, IOUT = 0A. Values in bold apply over full operating temperature range.
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retemaraP lobmyS snoitidnoCtseT niM pyT xaM stinU

)straPegatloVtuptuOdexiF(noitalugeRegatloVtuptuO

egatloVtuptuO )2( V TUO V0.3 ≤ V RWP
)4( ≤ Am1,V6.3 ≤ I TUO ≤ A1 %5.1- V TUO %5.1+ V

%5.2- %5.2+

VRD

tnerruCtuptuO I VRD V VRD V,V4= SNS V2.1= 5 01 Am

egatloVtuptuO V VRD I,nOlluF VRD Am0= 0.9 5.01 V

emiTesiR )3()2( tr V NE morfderusaem,hgiHotwoL=
V NE V= )NE(HT V%09ot VRD

0.1 sm

emiTllaF )3()2( tf V NE morfderusaem,woLothgiH=
V NE V= )NE(HT V%01ot VRD

055 sµ

noitcetorPtnerrucrevO

dlohserhTpirT V )CO(HT 03 05 07 V% TUO

trohStuptuOpu-rewoP
ytinummItiucriC

1 5 06 sm

hctilGtiucriCtrohStuptuO
ytinummI

5.0 4 01 sm

noitceSlortnoC

htdiwdnaB V VRD C,%5=DHT,V9= L Fp006= 5 zHM

Unless specified: TA = 25°C, VIN = 12V, VPWR = 3.3V, IOUT = 0A. Values in bold apply over full operating temperature range.
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egatloVtuptuO k(1R ΩΩΩΩΩ) k(2R ΩΩΩΩΩ)

V515.1 25.2 36.21

V818.1 55.5 36.21
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Ω≤
mA10

V
2R )FIXED(OUT

The output voltage can only be adjusted upwards from the fixed
output voltage, and can be calculated using the
following equation:
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VOUT

V P W R 12V IN

ENABLE

R1
 

R2
 

Q1
 

C4
0.1uF
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)V(TUOV (1R ΩΩΩΩΩ) (2R ΩΩΩΩΩ)

5.1 7.81 001

8.1 2.24 001

5.2 6.79 001

8.2 421 201

0.3 041 201

3.3 961 501
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